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int carRed = 12; //£LIT i\

int carYellow = 11;//# 4T %\
int carGreen = 10;//4¢4T 4\
int pedRed = 9; //i# 1 ZLAT # N\
int pedGreen = 8;//1#% I 54T g N
int button = 2; //¥]{H

int crossTime = 5000;

unsigned long changeTime;
void setup() {

pinMode(carRed, OUTPUT);
pinMode(carYellow, OUTPUT);
pinMode(carGreen, OUTPUT);
pinMode(pedRed, OUTPUT);
pinMode(pedGreen, OUTPUT);
pinMode(button, INPUT));
digitalWrite(carGreen, HIGH);
digitalWrite(pedRed, HIGH);

}

void loop() {

int state = digitalRead(button);
if (state == HIGH && (millis() - changeTime) > 5000) {
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changeLights();
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}
void changeL.ights() {

digitalWrite(carGreen, LOW);
digitalWrite(carYellow, HIGH);
delay(3000);//ZE s} = Fb
digitalWrite(carYellow, LOW);
digitalWrite(carRed, HIGH);
delay(1000);
digitalWrite(pedRed, LOW);
digitalWrite(pedGreen, HIGH);
delay(crossTime);

for (int x=0; x<10; x++) {
digitalWrite(pedGreen, HIGH);
delay(250);
digitalWrite(pedGreen, LOW);
delay(250);

}
digitalWrite(pedRed, HIGH);
delay(500);
digitalWrite(carYellow, HIGH);
digitalWrite(carRed, LOW);
delay(1000);
digitalWrite(carGreen, HIGH);
digitalWrite(carYellow, LOW);
changeTime = millis();
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int carRed = 12;

int carYellow = 11;:

_ digitalWrite(carGreen, LOW):
int carGreen = 10;

1t pedRed = 9:
int pedGreen =
2;

int erossTime = 3000;

digitalWrite (carYellow, HIGH);
delav (3000) :

digitalWrite(carYellow, LOW);

|
co

int button =

digitalWrite(carRed, HIGH);
delav (1000) -

unsigned long changeTime; L . -
= = g ' digitalWrite (pedRed, LOW);

W void setup() {
pinMode (carRed, OUTPUT) ;

pinMode (carYellow, OUTPUT);

\ digitalWrite(pedGreen, HIGH);
' delav(crossTime) :

for (int x=0: x<10:; =++) {
digitalWrite (pedGreen, HIGH);
delay (250) ;

digitalWrite (pedGreen, LOW);
delav (250) ;

}

(

pinMode (carGreen, OUTPUT);

pinMode (pedRed, OUTPUT) ;

pinMode (pedGreen, OUTPUT) ;
(button, INPUT);

digitalWrite (carGreen, HIGH);

igitalWrite (pedRed, HIGH) ;

pinMode

digitalWrite(pedRed, HIGH);
Y delav(500) ;

digitalWrite(carYellow, HIGH);

M
}

void loop() {

int state = digitalRead(button); digitalWrite (carRed, LOW);

delav (1000) :

digitalWrite (carGreen, HIGH);

if (state == HIGH & (millis() - chay
changeLights () ;
digitalWrite(carYellow, LOW);
changeTime = millis(};

}
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